
<?xml version="1.0" encoding="UTF-8" standalone="no" ?> 
<ErrorReport xmlns="http://www.garmin.com/xmlschemas/ApplicationErrors/v1"> 
 
  <Error> 
    <Exception> 
      <SourceCodeLocation> 
        <SourceFileName>APPLICATION.CPP</SourceFileName> 
        <SourceFileLine>638</SourceFileLine> 
      </SourceCodeLocation> 
      <Extra>invalid string position</Extra> 
    </Exception> 
    <Application> 
      <Name>MapSource</Name> 
      <Build> 
        <Version> 
          <VersionMajor>6</VersionMajor> 
          <VersionMinor>13</VersionMinor> 
          <BuildMajor>5</BuildMajor> 
          <BuildMinor>0</BuildMinor> 
        </Version> 
        <Type>Release</Type> 
        <Time>Nov 8 2007, 17:21:34</Time> 
        <Builder>SQA</Builder> 
      </Build> 
      <LanguageID>1031</LanguageID> 
      <PartNumber>006-A0041-00</PartNumber> 
    </Application> 
    <Computer> 
      <OperatingSystem>Windows XP Service Pack 2</OperatingSystem> 
      <Processor>x86, Processor Level: 6, Processors:1, Model: 9 Stepping: 5</Processor> 
      <RamSize>514480</RamSize> 
    </Computer> 
    <Time>2008-01-07T19:49:54Z</Time> 
  </Error> 
 
  <Error> 
    <Exception> 
      <SourceCodeLocation> 
        <SourceFileName>APPLICATION.CPP</SourceFileName> 
        <SourceFileLine>638</SourceFileLine> 
      </SourceCodeLocation> 
      <Extra>invalid string position</Extra> 
    </Exception> 
    <Application> 
      <Name>MapSource</Name> 
      <Build> 
        <Version> 
          <VersionMajor>6</VersionMajor> 
          <VersionMinor>13</VersionMinor> 
          <BuildMajor>5</BuildMajor> 
          <BuildMinor>0</BuildMinor> 



        </Version> 
        <Type>Release</Type> 
        <Time>Nov  8 2007, 17:21:34</Time> 
        <Builder>SQA</Builder> 
      </Build> 
      <LanguageID>1031</LanguageID> 
      <PartNumber>006-A0041-00</PartNumber> 
    </Application> 
    <Computer> 
      <OperatingSystem>Windows XP Service Pack 2</OperatingSystem> 
      <Processor>x86, Processor Level: 6, Processors:1, Model: 9 Stepping: 5</Processor> 
      <RamSize>514480</RamSize> 
    </Computer> 
    <Time>2008-01-08T15:42:17Z</Time> 
  </Error> 
 
</ErrorReport> 


